Wixey
REMOTE ROUTER READOUT

MODEL WR525 Type 2

INSTRUCTIONS

NOTE:

Always turn off the power and unplug your
machine before installing the WR525

1- Select the best mounting location

The WR525 can be mounted to a variety of machines in a number of different ways. These instructions
demonstrate the WR525 mounted to a router lift that is laying upside down on its top plate.

The “L” bracket and the magnet bracket can be attached the scale and sensor in many different ways
(FIG 1-2). Determine the best way for your particular situation.

The “L” bracket attaches to the top of the Scale
as shown:

Plastic bushing
and washer

“L” bracket

Select a position to attach the magnet and bend
one of the straight magnet brackets as needed.

FIG 2

Straight magnet bracket

— (2 spares are included)

%ﬂ_—_} @D@ @ £U @E M4 Hex Nut
M4 pan head
screw
FIG1

Alternate bracket position

- Q Attach the magnet

= using the M3 Hex Nut
= ":' v % E;’ /
There are many possible =7

’ ways to bend and attach =~

In =i || |the magnet bracket l

o

There are 8 possible magnet attachment points

Before attaching the scale and sensor to your lift check the travel with the carriage both fully extended and
tight against the top plate (FIG 3-4).

Fully extended carriage position
L

Carriage -
‘ The sensor
¥ must stay
o onthe
FIG 3 E : scale
|
=
il
| Top plate
h\;,._,,
_=— [El
w oy 7

Carriage positioned tight against the top plate

FIG 4

1\

LO N
AE———

Make sure the
sensor does
not bottom out




2- Permanently attached the scale and sensor to the lift

Center punch the screw locations and use the 3.6mm drill bit and the M4 x 8mm long thread forming
screws to attach the scale to the top plate (FIG 5) and the magnet bracket to the carriage (FIG 6). Put a
drop of oil on the end of the screws and use a nut driver to force the screws into the holes while turning
slowly.

Using a square make sure the scale is perpendicular to the top plate. If needed you may have to carefully
bend the “L” bracket to get perfect alignment. Fully tighten all screws to hold the system in position.

M4 x 8 thread

M4 x 8 thread forming screw

forming screw

3.6mm drill

/ (

Add drop of oll

FIG5

FIG 6

3- Mount the display and connect the Cat 5E cable

Find a suitable location to mount the display (FIG 7). You can use the 3.6mm drill bit and the M4 x 8mm
long thread forming screws to attach display. Connect the Cat 5E cable to the sensor and display and route
the cable using the cable clips.

Position the display mounting bracket

FIG 8

Connect the Cat 5E
cable to the sensor
and display

Alternate bracket position




6- Readout Operation

INSTALL 2 AAA BATTERIES
(Not included)

r=]

(7 ™

\ |
\“‘_7

o L ]|

) —

=
= -
i 5/

ON/OFF and CALIBRATION

IN/MM

Q"" ABS.IN
=

L.000

PUSH MOMENTARILY TO TURN OFF AND ON
HOLD FOR 3-5 SECONDS TO ENTER CALIBRATION
MODE. THE “ABS IN” FLASHES

TO CHANGE THE DISPLAY VALUE FROM
0.000 USE THE+ OR —BUTTONS.

B+ sy

>E- o

c.555

A SHORT PRESS INCREASES ONE DIGIT.
HOLDING THE BUTTON COUNTS FAST.
PRESS THE ON/OFF BUTTON MOMENTARILY
TO SET THE CALIBRATION VALUE. THE “ABS
IN” WILL STOP FLASHING

IN'MM
ABSOLUTE MEASURING MODE

TOGGLES BETWEEN

INCHES AND MILLIMETERS INCH MODE

v -

ABEING | ABS IN
3
2375 3

_HOLD TO CAL

CRNY TIE LAna )

MILLIMETER MODE

RN IS LARSIL U ML FLICs /_ 1 J
VAR
L

ABS/ING ABS mm

ANk
= 53

HOLD TO CAL

ABS/INC
ABSOLUTE e L
MEASUHING l._l.._.__l_lJ..I_.._,.___.J
MODE —_|

TOGGLES d L

BETWEEN
ABSOLUTE AND
INCREMENTAL

INCREMENTAL | == e W
MODE HE—-SEI_S__ R
TO 0.000

oROEE | [

TOGGLE BACK
TO ABS MODE
AND THE

CALIBRATEDS
DIMENSION IS
REMEMBERED | &) 2375 2

\ HOLD TO CAL -




9-Trouble Shooting

Readout issues

The Digital Readout will not function properly or display numbers correctly unless the cable is connected to
both the display and sensor. Do not install the batteries or turn it on until everything is properly connected.

NOTE: If you purchase a different length Cat 5E cable to use make sure that it is a shielded style
noted by the metal encased plug.

* Insure the sensor is properly installed on the scale. ——

Unstable constantly scrolling numbers o | 5
* Remove the battery, wait 30 seconds and replace it. m

Flashing digits, dim, or no display i

* Install new batteries. ; \
» Clean batteries and battery contacts. Sensor Sensor decal

Frozen display
* Remove the battery, wait 30 seconds and replace it.

Loses calibration

* Make sure that your machine is properly grounded.

* Route the cable away from electric motors or other electrical controls.

» Check for dirt on the scale or inside the sensor. Remove and clean if needed.

» Check for static discharges from a nearby dust collector or other source
Note: If a static discharge from your finger zaps the readout or a nearby dust collector
happens to zap your machine it can cause this error. Make sure the dust collector is properly
grounded and the dust port on your saw is grounded to the ground wire inside the dust
collector hose.

Accuracy Issues

Small accuracy errors of 1/16” or less
» Check for loose or flexing brackets.
* Make sure that the scale is perpendicular to the top plate in all planes.

Large accuracy errors of .200” or more

* An error of exactly .200" is a very common error number with these devices or even a multiple of
it like .400, .600, 1.200 etc. Usually this only happens when the readout is either moved very
quickly (more than 3 feet per second). Follow the same steps outlined in the “Loses calibration”
section above.



o7 | PartNo. Description aTy.
1 WRES02XP Display (.001" reslolution) 1
2 WR5255 L bracket 1
3 WR5505 Magnet 1
4 WRA5525 cable clip 4
5 WR5523 3.6mm drill bit 1
6 WR5531 M4 X8mm long thread forming screw 5
T WR5256 M4 x 13mm long pan head screw 1
8 WR5257 M4 hex nut 1
9 WR5519 M3 hex nut 1
10 WR5258 Maagnet bracket 3
11 WRS507 Cat 5e sheilded cable 2M long 1
12 WR5255 plastic bushing 1
13 WRS5250 plastic washer 1
14 WR5501 Sensor 1
15 WR5253 Sensor strip 1
16 WR5254 scale 1

OO

For questions, comments, spare parts, and application examples go to:

5

WWW.Wixey.com



